Math 103 Professor Katiraie Quiz One Form A

Name

Note: Show all work. Unless a problem is marked with an asterisk (*),

3

use a calculator only to check.

1. Simplify: (x' %) _. i ] (Assume no variables are equal to zero.) (3 points)
X yz - ‘
AR I 6 4%
X gz - xoyfsr o X
=z 3
2. Simplify: (Assume no variables are equal to zero.) (Must Show Procedure) (4 points)
-5, 8.2 -3
2 2°Y 7 b (3 yz—z)
3xy .
—( -¢+S 73 \ \ LA
-_1)-(} 3 -6 2 N
) (342 2742

=
3. Find the Domain and Range of the following: (2 points)
a. Domain: g-—g/ —’3) — \ , \3

£ b5 b B ) 3 p (3 l 53

Range: AR 2 J

B

b.
X 1 2 3 4 5
y 6 3 3 3

Domain: i‘)ll ?/"C/ g’s Range: { [) ?/ ()3



(«

*4. Evaluate with your calculator:

o 3129 6.\95

6(14)

b. 5432.01(1+ %2

Brogt. g4

5. Solve the following algebraically 3—5x = _i-x ‘7

\2 — 20X = X+ 2%
-2IX = |6
[4
=)

Solve:

6. 3x—(—2x-—5)= 4(x+7)

BXUXK + 8 = X428
X +5 = 4X+18

6;:23)

8. Fortheline 7x —2y =12, find the
—2Y4 =
a.slope = l
7 j =

b. y-intercept ( 0 ), — 6 J

c. x-intercept ( VA

>
\\\Q—QMSV

") Assume this is a calculation involving money.

(2 points)

(2 points)

(2 points Each)
7. £ -4-12=0
(t-¢J(t+1
Lt=C f=-_q

(3 points)

~TX 41
Z x ¢

T



Math 103 Professor Katiraie Quiz One Form B

Name
Note: Show all work. Unless a problem is marked with an asterisk (*),
use a calculator only to check.
2 y—6 = -2
1. Simplify: [ =y J (Assume no variables are equal to zerg.)/ﬂﬂw_..w...m._._.(s“‘pomts)

— _sz~—’l, A lcl[ e \4 \L 1
Glalze) "o Py gy

x“"J

2. Simplify: (Assume no variables are equal to zero.) (Must Show Procedure) (4 points)

a.2—1;;yj—}:;—:—— b.(zyz_z)_4
. 4 - 7
7% z 2ty 7 =z

3. Find the Domain and Range of the following: (2 points)

a. Domain: ~—5 *—\ y —Z) [’S

J

Range:{—(}) ljzjsg

-

b.

X 4 5

[\ ]
W

[#)}
w

y 3 3

Domain: i‘)z/?/ ¥t 5 Range: {\)?/ ()}



/

/

- / *4. Evaluate with your calculator: (2 points)

o S22 o 498G

6(13)
\ _0.076

b. 5435.01(1 + %)D(S) Assume this is a calculation involving money.

¥ 7 784.92

5. Solve the following algebraically —3—5x=%x+7 (2 points)
—1g 2595 X = X3S
N s
- S0 75
v —1k I3
— Solve: (2 points Each)
6. 3x—(-2x-5)=5(x+7) 7. £ ~5t-6=0
IX2KAES = SXA3S <LL é)(t -HJ
=X + S = SAUL < -
= ’3 S
(,(/\/ﬁqﬁlwﬂ f\// 20 crc\f
8. ’For the line 8x—4y =12, find the (3 points)
Yo X 41T
a. slope =,
3 = f% - _‘.2"- = 2 X — ki
b. y-intercept ({J / ——Z) -
c. x-intercept _%; ) . ) ‘ B _ (:)f_i_ ) O)
N



